=
<

] S
= 8
o °
B/ e}
107F:
.91053)_....!....!....!....!....!.... .9.,::
IS r i i i i i IS r
@ [vd r
1 1__'
092320 1 2 3 09232 a1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—s— DQM_V0001_R000000001__Global__CMSSW._100ti
—— DQM_V0001_R000000001__Global__CMSSW._100timeHPTT
- —~ 1c
= e E
2 e
2 -
> S
=Y 5
107
1072
1072k
910;% | | | | | .910:’%_' | | | | |
I = :
X a4 r
1 1_—'
R 1 2 3 095310 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
n=
2
-
o
o
5
lo—l_
1072k
o J..u;)_'
IS r
24 r
1_—'
R 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


